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1. In most reactions, one or more reactants are in excess.
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(- Pliers 3. Identify the limiting reactant and excess reactants in the following equation.
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3N:(g) + 3H2(g) — 2NHs(g) + 2Nz (2)
[— f ’\E" ) :
- Se e deiveis]

Limiting Reactant = 1(’( ‘f/ CQ \f“ﬂfjt‘ i Excess Reactant= /. \z‘” » +“¢'¢‘1 e AL
= |

du et —)}MMM
__’i: 1. Determine the amount of product formed and excess reactant from the following equation.

Ss() + 4Ch(g) — 45:Ch () 44— sl Behbade (Reeleny w-k&,e:—)
200 ¢ ({00
S_Lcﬂ Convert molar masses to moles ——

gty x el Clg (l i i O
O0¢ X A
(0090 u),ﬂl e )

AL g: - ¥ ) ( LAAN 1 : \ )i £, gl —Akl‘ 7Lg ;V\"\.
A0 § X > 56, /g'f C ?7 f? VW0 : § /
Step 2 : Using the limiting reactant, calculate the product formed.
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Step 3 : Determine moles reacted.

(.40 ,l),g,( %

Step 4 . Determine mass reacted.
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Step § : Determine excess remaining. :
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Name

L1, Percent Yield

1. List four reasons why chemical reactions may not go to completion
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2. Differentiate between the terms theoretical yleld and actual yield.
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3. Define the term percent yield.
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4. Write the equation to determine percent yield.
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S. Determine percent yield from the following equation if the theoretical vield of silver
chromate (Ag:CrOy) is 0.488 g and the actual vield is 0.455 g.
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2AgNO; (aq) + KoCrOs(aq) — AgCrO4(s) + 2KNOs (aq)

6. Explain how sulfuric acid (H2SOy) is produced with high yields through a 3-step process.
Step 1: Ss(s) + 802(g2) — 8S0O:(g)
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